[bookmark: _GoBack]Coordinate Geometry Day 1 HW 

Determine whether the figure is a parallelogram, rectangle, rhombus, square or just a general quadrilateral. Explain your reasoning. (Classify all that apply)
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1. 
[image: ] Distances:  
Slopes:  
























Conclusion: 
EFGH __________ a parallelogram because _______________________________________________
EFGH __________ a rhombus because ___________________________________________________
EFGH __________ a rectangle because ___________________________________________________
EFGH __________ a square because _____________________________________________________
       (is or is not) 
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Distances:  
Slopes:  























Conclusion: 
EFGH __________ a parallelogram because _______________________________________________
EFGH __________ a rhombus because ___________________________________________________
EFGH __________ a rectangle because ___________________________________________________
EFGH __________ a square because _____________________________________________________
       (is or is not) 
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Slopes:  
Distances:  


























Conclusion: 
MNPQ __________ a parallelogram because _______________________________________________
MNPQ __________ a rhombus because ___________________________________________________
MNPQ __________ a rectangle because ___________________________________________________
MNPQ __________ a square because _____________________________________________________
       (is or is not) 
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Slopes:  
Distances:  

























Conclusion: 
MNPQ  __________ a parallelogram because _______________________________________________
MNPQ __________ a rhombus because ___________________________________________________
MNPQ __________ a rectangle because ___________________________________________________
MNPQ __________ a square because _____________________________________________________
       (is or is not) 



















Solutions: 
 1. rhombus para
2. square, rectangle, para, rhombus 
3. square, rectangle, para, rhombus
4. none 
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